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SECTION - A

O O

i) General Awareness

, the founder of Bachpan
Bachao Andolan, has been selected
for Nobel Peace Prize 2014.

(A) Karthik Sampath
(B) Kailash Sathyarthi
(C) Shyam Shanker
(D) Sathyapal Mukherji

On 4-10-2014, 5 lakh people
witnessed Jamboo Savari in Mysore
in which elephant carried
Goddess Chamundi.

(A) Kaveri

(B) Mary

(C) Arjuna

(D) MNons of these

Assembly poils wers held on 15% Oct.
2014 in Maharashtra and

(A) Gujerath
(B) Kerala
(C) Punjab
(D) Haryana

Chandragupta Maurya was the
(A) Greatgrandiather of Ashoka
(B) Brother of Ashoka

(C) Father of Ashoka

(D) Grandfather of Ashoka

The first state in India to be formed
on linguistic basis is

(A} Andra Pradesh

(B) Qdisha

(C) Kamataka

(D) Maharashtra

6.

10

Which of the following classes did not
participate in the revolt of 1857 ?

(A) Agricultural labourers
(B) Moneylenders

(C) Peasants

(D) Zamindars

Which Indian Commercial Bank
became the first in providing mobile
ATM service ?

(A) HDFC Bank

(By SBI

(C) ICICI Bank

(D) IDEBlBank

Which of the following is an acid ?
(A) H,O

(B) H,S0,

(C) NaCl

(D) Na,CO4

Ajanta-Ellora caves are situated near
(A) Ajmer
(B) Aurangabad

(C) Patna
(D) Jaipur

In India the lengest day occurs on
(A)  April 13

(B) October13

(C)y June21

(D) March 21
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1.

12.

13.

14.

15.

The immortal national song “Vande
Mataram" has been written by

(A) Rabindranath Tagore

(B) Sarat Chandra Chattetji

(C) Bankim Chandra Chatterji

(D) Surendranath Bandopadyay

Who painted the master piece
“Hamsa Damayanthi” 7

(A) A.E.Menon

(B) Raja Ravivarma

(C) Rabindranath Tagore
(D) Amritha Shergil

Hema Malini’s first two films were in
(A) Hindi

(B) Telugu

(C) Marati

(D) Tamil

Jupterhas _____ corfirmed moons.
(upto 2013)

(A) 4

(B) 24

(C) 64

(D) 84

What is called sunshine vitamin ?
(A) Vitamin A
(B) Vitamin B
(Cy Vitamin C
(D) Vitamin D

16.

17.

18.

18.

20.

Acid used in an automobile battery
(A) Sulphuric acid

(B) Hydrochioric acid

(C) Nitric acid

(D) Citric acid i

Who wrote “Raghupathi Raghava
Rajaram™ ?

(A) Gandhiji

(B) Tagore

(C) Aurobindo Ghosh

(D) Vishnu Digambar Palusker

Only women below years
and above years are allowed
to climb Sabarimala, the pilgrim
centre in Kerala.

(A) 16,80
(B) 10,50
(C) 12,55
(D) 15,65

Naya Paisa was introduced in India
in , was renamed 'Paisa’ in
1564,

(A) 1957

(B) 1960

(C) 18862 %

(D) 1959

The national tree of India
(A) thecoconut

(B) the sandalwood

(C)} the banyan

(D) the neem
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21,

23.

24,

Which of the following relates to
FLOWER in the same way as
PENCIL relates to LICNEP ?

(A} WORFLW

(B) REWOLF

(C) RELOWF

(D) LOWERF

If S denotes “=", R denotes “+”, Q
denotes "x" and P denotes “ +”, then
25R10P2S8S5Q3="7

(A) 18

(B) 20

(C) 12

) 15

MART : NBSU : : BANK : ?
(A) CBML
(B) CNBL
(C) CBOL
(D) BCOL

WENT : VDMS : : FIRE : 7
(A} EHQGD

(B) ERIF

(C) HEDQ

(D) HQED

P is bigger than J, S is bigger than C,
H is not as big as J but biggerthan S.
Whigh is the smallest ?

(A) P
(B) C
() J
D) s

27.

28.

29,

30.

i) General Intelligence and Reasoning Ability
26.

In a certain code, 'nic tin sip’ means
‘where are you”, "tin pic sip” means “how

are you" what is the code for ‘how' ?
(A) tin (B) sip
(C) pic (D) nic

A mother tells her daughter, I was of
your present age when you were
born”, If mother is 40 now, how old is
the daughter now ?

(A) 20 (B) 18

(C) 22 (D) 15

How many 5's are there in the
following seguence of numbers which
are preceded by 2 and immediately
followed by 4 7
35419525476193582548
{A) one

(B) three

(C) four

(D) two

Find the word which cannot be made
from the letiers of the given werd :
PREAMEBLE

(A) MEAL
(B) AMBER
(C) PEARL
(D) LEARN 2
Lekhana travels 80 mto the South, then
from there 80 m to the East, then from
there 160 mito the North. Inwhat direction
is she now from the starting point ?

(A) North East

(B) North West

(C) South East

() SouthWast
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24,

25.

JDD-47/MVUX-14

ii) AT g A wu ATl g

T519 W LICNEP =1 9979 PENCIL
¥ 2 3 o Frefefaa § 8 a9
FLOWER & &=t & 7

(A) WORFLW

(B) REWOLF

(C) RELOWF

(D) LOWERF

Ifg s, R, Q3 pEww: A |
T

25R10P255Q3=7

(A) 18

(B) 20

(C) 12

(D) 15

MART : NBSU : : BANK : ?
(A) CBML
(B) CNBL
(C) CBROL
(D) BCOL

WENT : VDMS : : FIRE : 2
(A) EHQD
(B) ERIF
(C) HEDQ
(D) HQED

PJRERIR S CEETR; RJE
TEF TR BT S A e I TH T
TEE BRI EETE 7

(A) P

B) €

c) J

D) S

26.

27.

28.

29,

30.

T e 18 & 25@ia nic tin sip’ 1
#4  “where are you® “tin pic sip® %1

314 & “how are you” THH ‘how' & fare
FEHIHEE 7

(A) tin (B) sip

(C) pic (D) nic

U T 7] 921 0w B v gy
gdimida smRmhd | @
s I Im 40, S ImHE T ?
(A) 20 (B) 18
(C) 22 (D) 15

418 2 3R o 4 e fefafen
FR R 58 7

35419525476193582546
(A) 1
(B) 3
(C) 4
D) 2
Fifefiadi § 8 50 v F1 PREAMBLE
¥Tos H TAaTel S¥er A el S HFa 8 7
(A) MEAL
(B) AMBER
(C) PEARL
(D) LEARN

a1 A ZEr 1 31 80 ToRa Hiew ok
781 | 80 forel dfer @ $it 3, A |
160 e i sm A R 2 1
T 37 aE 37 e g A P feen 2 7
(A) FEE

(B) ITul=H

(C) =@

(D) =fEm iy
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at.

32.

33.

38.

Which number can be placed at the
sign of interrogation ?
2% o7 1 3B

12 16 24

3 4 7

(A) 54

©) 12

Which set of numbers is like the given
set 7 (36, 12, 4)
(A) {84,28,9)
(B) (225,75,25)
(C) (100,50, 10)
(D} (28,14,7)

Choose the once which does not
belong to the group to which other
three belong 7

(A) November

(B) September

(C) Remember

(D) December

(B) 60
(D) 28

A=1,B=2 C=3 D=4andsoon,who
do the following numbers stand for ?
8511820

(A) HEART

(B) ADHER

(C) HEARD

(D) HARME

Broad ; Narrow :: Fast:?
{A) Quick

(B) Slow

(C) Rest

(D) Urgent

Below given are the letiers of a word
which have been rearranged.
Arrange the |etters properly and find
the correct word, The last letter of the
correct word is “PIEROSM”

(A R (B) S

(C) E (D) P

37.

38.

38.

40.

A works more than R. B works as
much as C. P works less than B. R
works more than B. Who works most
of all 7

(A) A
(B) B
(C) P
(D) R
Rakshitha went to the movies 8 days
ago. She goes to the movies only on
Friday. What day of the week is today ?
(A) Sunday

(B) Saturday

(C) Thursday

(D) Meonday

Find the missing term of the sequence
given below

TR S D | et
19
16
20
17
25
17
292
16

(A)
(B)
(©)
(D)

In the following four pairs, three pairs
have a common relationship and pair
is different, select the one which is
different

(A) catch—caught

{B) ssll —sold

(C) strike — striked

(D) sing - sang
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31.

32.

as.

TETE (98 & TUH T S T Fi
EzeCih-

25 57 36

12 16 24

15 Wy 8

(A) 54 (B) 80

(C) 12 (D) 28

Fefafad 48 FRa g o A
T HYE % FTEI R 7 (36, 12, 4)
(A) (84,28,9)

(B) (225,75,25)

(C) (100,50, 10)

(D) (28,14,7)

a7 s vE R gRu ST
a?m%a%ﬁfﬁaﬁ%a i
(Ay FEa
(B) FImW
(c) famse
(D) fegem

G A=1,B=2,C=3D=4 i TEd,
1 e ded R gm0
8511820

(A) HEART

(B) ADHER

(C) HEARD

(D) HARME

UF 952 & 390 W HE uen F e
T ° Siewt fomm w2 | svE w5
el 7 | wes fofan | 58 v =

3 351 & “PIEROSM”
(A) R B) S
(C} E D) P

l1 !F

37.

38.

38.

40.
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AREMisRmsmEme I B C #
TEE IO FA L P B H i w9 wm
=2 'R BE T st sm et 10y
Il TatE T FTE R 2 ?
(A) A
(B) B
(C) P
(D) R

8 faa weet Ty fomw & ot | 9w
Fa AN F @ Em dadt v |
A RAATET R 7

(A) Taam

(B) wiRamw

(C) TR

(D) THAW

feafefedt @ 5 oo g =1 w9

uicodl

s

5'8"11" 14’
19

(A)
(B)

16
20
17
25
(C) 7
22

Feifafad 9n =l 4 @ 58 92 €,
S T T 2, 3H T WS 9 |
(A) catch—caught

(B) sell—sold

(C) strike — striked

(D) sing-—sang
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41.

42,

D0 T O A

iif) Arithmetical and Numerical Ability

When a book is sold for Bs. 60 there
is a profitof Bs. 5. If the same book is
sold for Rs, 120, what will be the profit ?
(A) Rs.10
(B) Rs. 60
(C) Rs.45
(D) Rs.65

(1 1 1] ¥
smdese = L —
& g

(B)
(C)

D)

o | a)ra

8 people complete a work in 5 days.
How many days do 10 people take to
complete the same work 7

(A} 4

(B} 5

(C) 6

0y 3

7
Square raot of EE is

" 12
® 23
© 1z
® 13

-12-

45,

47.

48.

48

(D)

In a basket there are 50 flowers. A
man goes to worship and puts as
many flowers in each temple as there
are temples in the city. Then he peeds
8 baskets of flowers, Find the number
of temples in the city.
(A) 15

(C) 25

(B) 20
(D) 30

AsB=4:5B:C=6"T.A:C=7?
(A) 30:37

(B) 4:5

() 6:7

(D) 24:35

LCM and HCF of two numbers are
150 and 5 respectively. If one number
is 25, find the other.

(A) 20 (B) 35

(C) 30 (DY 15

At what rate, simple interest for

Rs. 2,500 for 2 years is Rs. 5007 - -

(A) 10%
(C) 15%

BY 5%
(D) 12%

How much is the compound interest
for Rs. 3,000 at 10% for 2 years ?

(A) Rs.330

(B} Rs.B830C =

(C) Rs. 600

(D) Mone of these

A man spends 85% of his salary am;i

saves Rs. 525 per month. Find his

monthly salary.
(A) Rs.2,000
(B) Rs. 3,000
(C) Rs.2,500
Rs. 1,500
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iil) SreRTTTe S Ud EEETea ST

S A #1 60§98 H 999 7 5 598
o e | 5 38 EEam E 120 70 |
AT A A FAST ATH R 7

(A) %10 (B) % 60
(C) %.45 (D) %.65

[1 1 1]_3
Ll e Ve oom T_=?
2 2 2 4
(A)

(B)
()

8
@ =

U FTH T 8 F 5 & o A E |
I F = 10 w0 e e =i
A FAE 7

(A) 4

(B) 5

(C) 6

(0) 3
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47.

48.

49,

50.

45, U1 50 B & | T SRH! T A

TS | SE e A e ai &, ST dr e
T el B U A W it e 3

Tl 8 R T A ST T & |
36 e A e a8 o e wEe ?
(&) 15 (B) 20

(C) 25 (D) 30
A:B=4:5B:C=6:7,A:C=7?
(A) 30:37

B) 4:5

(C) 6:7

(D) 24:35

2 HET131 % LCM 311 HOF 891 150
58 AR uEgEm s E, Mg H
AT TR |

(A) 20 (B) 35

(C) 30 (D) 15
A s g 2500 T3 F 2 9 |
500 99 Bl =47 e R 7

(A) 10% (B) 5%
() 15% (D) 12%
10% T &1 & ¥, 3,000 T4 F
29 | fyedaTe = fFe § 7

(A) ¥.330

(B) %.630

(C) %.600

(D) T AFE AITE %
T TTEHT A HEH & Ao 3 65% T9
FTH 525 ¥ o AEN ST I T A
TEH K 58 e dsa T g 7

(A) ¥.2,000

(B) ¥.3,000

(C) % 2,500

(D) %.1,500
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51,

82.

&4,

56.

1
If 8+ =3 find, 8 +—5
a2 a

(A) 8 (B) 6
c 7 D) 8

A is 25 years older than B. After 15
years age A will be twice of B. Find
the present age of B.

(A) 15Yrs.

(B) 20 Yrs.

(C) 25Yrs,

(D) 10Yrs.

Volume of a cube 512 c.c. Find its
total surface area.

(A) 384 Sqg.cm

(B) 64 Sg. cm

(C) 264 Sg.cm

(D) 128 Sg.cm

Find the sum of all the first 50 odd
numbers,

(A) 500

(B) 2500

(C) 3500

(D) 1500

From the digits 3, 2, 1, 8 how many
two digit odd numbers can be made ?
(A) 8 ® 7
(C) 6 (D) 5

In aclass of 52 students some speak
Kannada, some speak English and
some speak both. If 30 speak
Kannada and 38 speak English, how

many speak both 7
(A) 18 (B) 18
(C) 20 (D) 15

57.

58.

oL

60.

R 00 A

Rs. 67,200 are invested in Rs. 100
shares which are quoted at a premium
of Rs. 20. Find the number of shares
bought if the rate of dividend is 12%.
(A) 560
(B) 500
(C) 600
(D) 525

Two poles of lengths 20 mand 24 m
are fixed to the plain ground vertically
at 3 m apart in the bottom. Find the
distance between their tops.

(A) 4m

(B) 5m

(C) 6m

(D) 3m

3 unbiased identical coin are tossed.
What is the probability that all the
heads appearonthetop 7

(A)

(B)

P P

(C)

M| | ==

(D)

-

A train runs from P and Q at a speed
of 40 Km/H and returns from Qto P at
60 Km/H. Find the average speed of
the to and from journey,

(A) 50 Km/H

(B} 45Km/H

(C) 48 KnvH

(D) 52 Km/MH
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52.
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(A) 9 B) 6
€ 7 (D) 8

‘A BUSTETSIR 15T F A2
AR TR AT A IR R
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(A) 1599

(B) 2034

(C) 253§

(D) 1099

U U9 %] AT 512 c.c. ® | 395 508
o+ HA%E F1 I ST |

(A) 384 &,

(B) 643FTH.M.

(C) 264=d 4.

(D) 128&i&.H.

wxft vy 50 o gEmet Samea =
Y41 SIS |

(A) 500

(B) 2500

(C) 3500

(D) 1500 .

3, 2, 1, 6 T ATFS & fFad 3 atfesl
HifawmdeiisianaFa g ?

(A) 8

B) 7

(C) &

(D) 5

52—@-&@@%

SIS Hier §

2 af2 30 Tz A SEEiIﬁGﬁ
# sierr &t Beed o1 Gt A wte § 7
(A) 18 B) 16
(C) 20 (D) 15

15

37.

99,
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100 ¥9% ¥ % fegmme # 67,200 799
ﬁﬁgﬁﬁ@m& ﬁaﬂs%qzum&ﬁwa
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Y g = o e |
(A) 560
(B) 500
(C) 600
(D) 525

20 . 3 24 . Favd F & wedi )

waR e d ag @ 3, FTH
TR | 3 2 v ¥ e

1 AT TRY |

(A) 44

(B) 5.

(C) e,

(D) 3=

3 Freves wefom Rl 5 swossten |
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v) Test of Language : English

HTNT G8HT © ST

Directions (Qs. 81 t0 85) : Read the passage
given below and based on it ensure these
questions given after the passage.

A well dressed young man entered a big
textile shop. He was able to draw the
attention of the salesman who thought him
rich and likely to make heavy purchases. He
was shown the superior varieties of suit
lengths and sarees. But carefully examining
them, he kept moving to the next section
where readymade goods wers being sold
and further on to the hosiery section. By then
the salesman had begun to doubt his
intentions and drew the attention of the
manager. The manager asked him what
exactly he wanted and he replied that he
wanted courteous treatment. He explained
that he had come to the same shop in casual
dress that moming and drawn little attention.
His pride was hurt and he wanted to assert
himself. He had come in good dress only to
get decent treatment not for getting any
textiles. He left without making any
purchase.

81. The young man was well dressed
because
(A) Itwas his habit to dress well
(B) It was his wedding day
(C) He wanted to mest the
manager of the shop

He wanted to purchase
textiles

(D)

82. The salesmen in the shop are

described as people who pay
attention to

(A)
(B)
(C)
(0)

Only young men and wormen
Pretty women

Only rich customers

Regular customers

The young man moved away to the

hosiery section because he

(A)

(B)

(C)
(D)

interested in
purchasing anything now

was not

did not like the readymade
clothes

wanted better clothes
was restless

The manager asked the young man

what he wanted because

(A)

(B)

(C)

(D)

he would give him exactly
what he was looking for

the salesman had drawn his
attention to the indifferent
attitude of the young man

he thought they could do more
business with him that way
he thought that the visitor was
dissatisfied




JDD-47T/MVIX-14

85.

The young man lefi without making

any purchase because he

(A) did not have money

(B) could not find any item of his
choice

(C) hadcome enlyto makes a point
about the indifferent attitude of
the salesmen towards
casually dressed customers

(D) decided to come to make the
purchases later on

Directions {Qs. 861090} : In the following
items, some parts of the sentence have
been jumbled up. You are required to
rearrange these parts which are labelled
P, Q, R and S to produce the correct
sentence. Choose the proper sequencs,

86.

er.

Like energy crisis (P)/is one of the
most talked about (Q)/population
explosion (R)/topics of the world these
days. (S)

The correct seguence should be

(A) SRQP

(B) RQPS

(C) SPQR

(D) PRQS

This is the book (P)/about (Q)/that (R)/
| told you. (S)

The corrsct ssquence should be
(A) PRSQ

(B) PSQR

(C) SPQR

(D) PQRS

0

When the driver infront of me (P)/
slammed the brakes on (Q)/| was
driving in rush hour (R)/without
waming. (S) \
The correct sequence should be

(A) PQSR

(B) RSQP

(C) RPQS

(D) PQRS

. The dog (P)/with its customary

fondness (Q)/before the master (R)/
wagged its tail. (S)

The corract sequence should be

(A) PQRS

(B) PSRQ

(C) PRSQ

(D) QRSP

When the artist had started (P)/singing

a popular song (Q)/in chorus (RYevery
one in the audience joined. (S)

The correct sequence should be
(A) RQPS
(B) RPQS
(C) PQRS
(D) PQSR
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Directions (Qs. 91 and 92) : Select the word
or group of words that is most similar in
meaning to the given word.

91. PAINSTAKING
(A) Feeling panic
(B) Thorough and rigorous
(C) Casual
(D) Pieasing

IMPROMPTU
(A) Important
(B) Improper
(C) Improved
(D) Offhand

Directions (Qs. 83 and 94) : Select the word
that is furthest in meaning to the given word.

93. APPARENT
(A) Real
(B) Seen
(C) Vague
(D) Visible

94. PERTINENT
(A) Eloguent
(B) Distant
(C) Relevant

(D) lrrelevant

85. The masculine gender of ‘Sister-indaw’is
(A) Sister's-in-law
(B) Brother-in-law
(C) Father-in-law

(D) Mother-in-law

a7.

98.

100.
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Past pariiciple of ‘steal’ is
(A) Stolen

(B) Stole

(C) Steel

(D) Stealed

‘He has done his duty’

The tense of the verb in this sentence is

(A) Present

(B) Past

(C) Present perfect -
(D) Future

‘He is my friend’

In the above sentence the part of
speech of ‘He' is

(A) Preposition

(B) Pronoun

(C) Adjective

(D) Verb

The plural of ‘Journey’ is
(A) Journies

(B) Joumnsees

(C) Joumseys

(D) None of these

*He has done it" ~

The above sentence in the passive
voice will be

(A)
(B)
(C)
(D)

It was done by him

it is done by him

It will be done by him

It has been done by him
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| SECTION-B
= Post Specific Subject-Related Questions
3
| 5 3
i % 101, (fairis there in the hydraulic system | 104. Ths function of Antilock Brake
| % thien the brake system is called System (ABS) is that is
(A) Minimises the brake fade *
() hardbrake (B) Reduces the stopping
distance
8 ongy braks = L
B SEeng (C) Maintains directional control
during braking by preventing
(C) weak brake the wheels from locking
e (D) Prevents nose dives during
jL) SO braking &and thereby

postponss locking of the

. whesis
|
| _ 102, Which gauge is used tomeasure the
| thickness of sheet 7 105. The stroke of an snging is the
(A) Wirs gauge (A) Length of the connacting rod
(B) Internz! diameter of the
(B) Shestgauge oylinder

(Cy Volume of the cylinder

_ (D} Distance between T.D.C. and
(D} Pitch gauge B.D.C.

(C) Feeier gauge

106. Which of the following symptom is

1035 GE”E‘TE”}" ine crﬂﬁs'agﬂﬂnﬁ of caused as 2 rEEUﬁ of braka:disc run
connecting rods ars made of out ? *
(A} Ineffectiveness of the brakes
(A) - incross saction !
| ' (B) Judder during braking
| (B) L- incross section (C) Localized wearing of the
| braks pads
| (C) H=-in cross ssction ,
(D) Rapid wearing of the brake
(D) C - incross section pads
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101,

102.

103.
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(A) Tfewa I

B) FwgEw
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(D) FHAE

=21 il Hier A ¥ o e T
IR ¢

(A) FELTS
(B) wiedw
(C) e =
(D) T= i

HHTRTE: T B & Sy e
TR &

(A) - FE Y

(B) L-3WIFEH

(C) H-IFwegFRH

(D) C-IgwaFed

105,

108.
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107. | the engina coolant leaks into the 111. How the Oil paints becomes dry ?
engine oil, then sngine oil

(A) Heating
(A) Appears milky
(B) Bscomesfoamy (B) Oxidation
(C) Turns black (C) Cooling ’
(D) Turns sticky (D) Electro chromic

112. Which of the following materigls is not

108. t ingis d for main :
What type of bearing is used for used for battery separators 7

bearings and connecting rod big end
bearings ? (A) Lead
(A) Ball bearing

(B) Wood
Shell in
(B) Shell bearing (©) Paper
(Cy Needle roller bearing
(D) Flastic

(D) Tapsr roller bearing

113. Coefiicient of friction for the ciuich

109. Inazutomobiles G.V.W. refersto facing is appreximatsly
(4) Gross Vehicle Width (A) 0.1
(B} Gross Vehicle Weight (B) 04
(C) Gross Vehicle Whasl-base {C) 0.8
(D) Gross Vehicle Whesl-track oy 1.2

i14. The crescent-shaped cavity on the

110. The effect of having excess camberis piston head top surface is caligd as
(A) Excessive steering alignment (A) piston cil hols
torgue (B) snap ring
(BY Hard steering (C) wvalve recess
(C) Toc much traction (D) wvaive clearance

(D) Uneven tyra wear
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110.
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(A) &7 sim

(B) IrEEi

(C) =rewm UsremRy
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aik
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(B) o wanl 9l
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(B) TEuREe=
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i

Era.

114.
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. teieigEmE
(A) TEHEE
(B) T E
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D) wWRIFRmE
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(A)
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(D) e
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(A) .1
(B) 0.4
(C) 0.8
(D) 1.2

e & ré v = o sl
FAF FERE

(A) Treadwfos
(B) wef@

(C) wwe g
(D) Sy e




JDD-47/MVI/X-14

115. Which part of the automobile tyre is
subjected to greatest flexing action ?

(A) Bead
(B) Side wall
(C) Shoulder
(D) Tread

116. The compression ratio for Diess!
engines usually lies in the rangse of

(A) 610
(8) 10-15
(€) 15-25
(D) 25-40

117, The aspect ratio (expressed in
percentage) of the tyre is defined as
the ratio of

(A) Section width to section
height

(B) Section height to section
width

(C) Wheel diameter to saction
height

(D) Whesel! diameter to section
width

118. The gradual loss of color is known as
(A) Bloom
(B) Fading
(Cy Flashing
(D) Grinning

118

120.

121.

122.

The parking brakes employed in most
of the vehicles are operated by

(A} Mechanically
(B) Hydraulically :
(C) Pneumatically

(D) Vacuum

Tachometer in a vehicle measures

(A) Speed
(B) Distance

(C} Enginer.p.m.

(Dy Fuel consumption

The ignition coil is used to

(A) stepup current

(B) step down current

(C) step up voitage

(D) step down voltage

T

Free pedal play in car clutches is

about

(A) 15mm
(B 25mm

(C) 40mm

(D) 60 mm
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120.

121.

122.

SO B w5

(A) =g
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(A) 15mm

(B) 25 mm

(C) 40mm

(D) 60 mm
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123.

124.

125.

126.

The information provided by the
oxygen (O,) sensor to the feedback
control system is about the

(A) airtemperature

(B) air flow speed

(C) air-fusl ratic

(D) exhaust gas volume

The rating of C.I. engine fuel (Diesel)
is given by

(A) Performance number

(B) Cetane number

(C) Methane number

(D) Octane number

The vehicle ride will be comforiable if
(A)

unsprung mass is kept
minimum

(B) sprang mass is kept minimum
(C)

(D)

vehicle mass is kept minimum
all of these

Battery electrolyte is a mixture of
waterand

(A)
(B)
(©)
(D)

Lead peroxide
Sulfuric acid
Lead suifate

Sulfur crystals

127.

128.

128,

The diagram which shows the correct
crank positions corresponding to the
opening and closing of the valves, is
known as

(A)
(B)
(C)
(D)

indicator diagram
axial force diagram
valve timing diagram

port timing diagram

The starting system includes
(A) a battery, a starter and an
ignition switch
(B) abattery, a distributor and an
~ ignition switch

(C) a battery, a starter and a
distributor

(D) a distributor, a starter and an
 ignition switch

The reconditioning process used to
give cylinder bore surfacss a Cross-
hatch pattern, is known as

(A)
(B)
(C)
(D)

Honing
Porous plating
Boring

Shot peening
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130.

131.

132.

133.

Incorrect Steering Axis Inclination

(S.A.l.) causes

(A) tendency to assume toe-out
orientation

(B) generation of a braking effect
at tight corners

(C) poor recovery of the steering
wheel after making a turn

(D) the vehicle to pull to the side
of lesser inclination

The operation of removing trapped air
from the hydraulic braking system is
known as

(A) Trapping
(B) Tapping
(C) Bileeding
(D) Cleaning

The filting of the front wheels away
from the vertical, when viewed from
the front of the car, is called

(A) Camber
(B) Caster
(C) Toe-in
(D) Toe-out

The two rows of cylindersina V' type
engine are generally arranged at

(A) 45°
(B) 60°
(C) o0
(D) 130°

134.

133.

136.

137.

The negative plate active material of
a lead acid battery has

(A) lead peroxide (PbO,)
(B) spongy lead (Pb)

(C) lead sulphate (PbSO,)
(D) sulphuric acid (H-S0y)

When the brake pedal free play is less
than the specified value, then the

(A) brake drags
(B) brake fades

(C) wvapour locking occurs in the
brake lines

(D) antilock braking system
malfunctions

The specific gravity of diesel is about
(A) 085
B) 0.75
(C) 0.85
(D) 0.95

The service brakes en;pluyad in cars
are generally operated

(A) mechanically
(B) hydraulicafly
(C) pneumatically

(D) none of these
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138.

138.

140.

141.

During braking, the brake shoe is
moved outward to force the lining
against the

(A) wheel cylinder
(B) anchor pin

(C) brake drum
(D) wheel rim

The component in the radiator of an
automobile that increases the boiling
point of water is

(A) drain plug
(B) waterjacket
(C) vacuum valve

(D) pressure cap

The process of supplying the intake
air to the engine cylinder at a pressure
greater than the pressure of the
surrounding atmosphere is known as

(A) Supercharging
(B) -Auto-ignition
(C) Scavenging
(D) Detonation

The petrol engine works on
(A) Ofttocycle

(B) Carnot cycle

(C) Diesel cycie

(D) Rankine cycle

142.

143.

144,

The purpose of a thermostat in an
engine cooling system is to

(A) Prevent the coolant from
boiling

(B) Allow the engine to warm up
quickly

(C) Indicate the coolant
temperature
(D) Pressurise the system to raise

the boiling point

The function of Positive Crankcase
Ventilation (PCV) system is that it

(A) Mixes fuel with air

(B) Promotes combustion by
creating a swirling movement
in the air-fuel mixture

(C) Retumns blow-by gases from
the crankcase to the intake
systam

(D) Feeds blow-by gases to the
exhaust manifold

in a Diesel engine, the function of
fuel injector is to

(A) Mix the fuel and air
(8) Ignite the air-fuel mixture
(C) Provide flame front for ignition

(D) Spray atomized fuel in the
cylinder
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The exhaust gas from petrol engine
contains

(A)
(B)
(C)
(D)

Petrol vapours
Water vapours
Carbon monoxide

Petrol, water vapours and
carbon monoxide

The device for smoothening out the
power impulses from the engine is
called

(A) Clutch

(B) Differential

(C) Flywheel

(D) Torque converier

Which of the following is used 1o
monitor the charging system ?

(A)
(B)
(C)
(B)

Ammeter
Ohmmeter
Dynamometer

Fusible link

Alternating current in an alternator is
rectified by

(A) Brushes
(B) Diodes

(C) Slip rings
(D) Transistors

149,

150.

151.

152.

S

The two circuits of the ignition
system are

(A) The “Start” and “Run” circuits
(B) The point circuit and the coil
circuit

The primary circuit and the
secondary circuit

The insulated circuit and the
ground circuit

()
©)

The material for positive and
negative plates grid of the lead acid
battery is

(A) tin

(B) lead

(C) antimony

(D) rubber

i the air-fuel mixture ignites before the'
spark takes place at spark plug, the
condition is called

(A) dstonation’
(B)
(C) pre-ignition
(D) rumble

ignition

The most commonly w;ed
Supplementary Restraint System
(SRS) component is

(A) seat beit
(B) brake
(C) airbag
(D)

steering
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153. The natural gas is compressed in a
CNG cylindsr at a pressure of
(A) 200 bar
(B) 220 bar
(C) 250bar
(D) 300 bar

154. The specific gravity of acid in a fully
charged battery is generally

(A) 1.00
B) 1.28
(C) 1.82

(D) 2.81

155. Wheel base of a vehicle is the

(A) distance between the centres
of the front and rear wheels

(B) distance between the centres
of the front tyres

(C) distance betweenthe centres
of the rear tyres

(D) extreme length of the vehicle

156. Which of the following oil is more
viscous 7

(A) SAE 30

(B) SAE 60

(C) SAE 90

(D) SAE 140
Ax*

157.

158.

158. The

160.
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161. Valve overlap occurs between

(A) Intake and compression
strokes

(B) Compression and power
strokes

(C) Power and exhaust strokes

(D) Exhaustand intake strokes

162, The engine valves are closed by
(A) Crank shaft
(B) Valve spring
(C) Camshaft
(D) Valve guide

163. The material used for inlet valve
usually

(A) Silico-chrome steel
(B) Austinic steel

| (C) Hardened steel

| (D) Nimonic steel

164. InMaruthi 800 car the type of steering
1 gearis

' (A) Worm and wheel

| (B) Waorm and nut
(C) Worm and roller
(D) Rack and pinion

165.

166.

o7

168.

00

Caster is defined as the inclination of
(A) Front wheel to the vertical

(B) The king pin axis in the fore
and aft plane

(C) The king pin mﬁs in the
transverse vertical plane

(D) The axis of stub axie to the
horizental

What type of steerin
modern cars and tru

(A) Ackerman

(B) Radial

(C) Fifth wheel

(D) Devis =

s used on

To ﬂghtehmmm with a
specified torque which of the

following tool iﬁmﬁh—

(C) Torque wrench
(D) Extensionbar
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169.

170.

¢ i 8

172.

Which toal is used to cut the interal
thread ?

(A) Tapset
(B) Die set
(C) Reamer
(D) Drill bt

Which gauge is used to measure the

cylinder diameter 7

(A) Bore dial gauge
(B) Vemier caliper
(C) Micrometer

(D) Devider

Viscosity is a measurs of hydraulic
fluids based on its

(A) Temperature
(B) Thickness
(C) Cooling

(D) Resistance

What lights the diesel fuel ?
(A) spark plug

(B) heat

(C) fuel injector

(D) injection pump

VD A

173. Why does diesel fuel evoperates
lower than gasoline ?
(A) its boiling point is low
(B) itis heavier
(C) itis oilier
(D) itis lighter

174,

178,

176.
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1

178.

179

180.

Which one of the foliowing equipment
is used whenever loads to be lifted
and moved ?

(A) Crane
(B) Winches

(C) Machine moving platforms

(D) None of these

Which cne of the following is used to
clean oily floor 7

(A) Cotion waste
(B) Putting water
(C) Putting saw dust or sand
(D) Spraying carbon dioxide

The connecting rod is attached to the
piston by

(A) Piston pin
(B) Cap bolt
(C) Stud

(D) Eye bolt

The push rod is located between the
(A) Valve and valve spring

(B) Valve and rocker arm

(C) Tappet and rockerarm

(D) Tappet and cam shaft

181.

182.
a gearbox

183.

184.

A

The oscillation in the suspension
system is damped by

(A) shackles

{B) shock absorbers . '
(C) stabilizer rods

(D) torsion bar

The 4-wheel-drive vehicle will have
in addition to its
transmission will have a

(A) transiercase
(B) slip differential
(C) wvacuum booster
(D} over drive

Which of the following ideally should
be the final combustion product of
every fuel containing carbon 7

(A) Hydro Carbon

(B) Carbon Monoxide
(C) Carbon Dicxide
(D) Oxygen

The evaporative loss control device
usaed in IC Engines is called the

(A) thermal reactor
(B) exhaust manifold reactor
(C) catalytic converier

(D) canister
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185.

186.

187.

188.

The instrument used for the diesel
odour measurement is

(A) odometer
(B) eudiometer
(C) hydrometer
(D) olfactometer

The blow- by lossés in an engine can
be controlled by

(A) Positive crankcase ventilation
system

(B) Open crankcase ventilation
(C) Evaporative loss control device
(D) Thermal converter

The terdency of a vehicle to turn
around the bngmdunai axis is known as

(A) pitching
(B) yawing
(C) rolling
(D} nose dip

The torsion bar is normally fitted
between

(A) chassis frame and wheel arm
(B) wishbone and axle
(C) stub axle and axle beam

(D) wheel spindle and chassis

189.

190.

101.

192.

The rolling tendency of a vehicle is
reduced by using

(A) atorsion bar

(B) coil spring ’
(C) helper spring

(D) sway bar

Which of the fni#owmg is a variable
ventur carbu:sttﬂr_?-

(A) Solex carburstior
(B) Zenith carburettor
(C) Carter carburettor
(D) S U carburettor

The cold starting system provided in
a solex carburettor is known as

(&) Choke
(B) Tickler
(C) Economiser

(D) Bi-starter

A shackle with a leaf spring
(A) prevents squeaking sound
(B) provides good traction

(C) allows the spring length to
change

() allows pivoting of spring end
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193.

194

195.

196.

The brakes work on the principle of

(A) conversion of kinetic energy
to heat energy

(B) conversion of heat energy to
mechanical energy

(C) conversion of potential energy
io heat energy

(D) conversion of electric energy
to heat energy

The body of large bus in two pieces
and attached fogether by a covered
pivot is known as

(A) Double decker body
(B) Ariculated body

(C) Spilit level body

(D) Classic type body

An electronic device that measures a
mechanical condition and changes
that to an electrical signal is called

(A) the actuator
(B) thesensor
(C) the controller
(D) the rectifier

Paint should have

(A) Aesthetic look

(B) Spreading power

(C) Cheap and economical

(D) Entrapped air

197.

198.

189:

200,

The tensile stress is tensile load

divided by

(A) Length of workpiece

(B) Cross sectional area of the
workpiece

(C) Circumferential area of the
workpiece

(D) Volume of the workpiece

Which is the best example for semi
liquid lubricant 7

(A) Grease
(B) Graphite
(C) Castor oil
(D) Lard oil

Oil paint is a type of which dries ?
(A) Slow

(B) Fast

(C) Very long

(D) Medium

What is to be called for the first coating
of paint ?

(A) Finishing coat
(B} Under coat

(C) Priming coat
(D) Secondary coat
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